Download More Papers From www.GovtJobsAlert.In

Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
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[Registration No.

Name :

[Exam Venue : iON Digital Zone iDZ Baraipali
[Exam Time : 12:30 PM - 2:00 PM

[Exam Date : 22/02/2019

Section : General Section

Q1 1dentify the odd pair from the following.
Ans 1. Taj Mahal : Agra
v’ 2. Konark : Odisha

< 3. Victoria memorial : Kolkata
X 4 India Gate : New Delhi

Question ID : 9895806484
Chosen Option : 3

Q.2 The statements below are followed by two conclusions labeled I and IT. Assuming that the information in the statements
is true. even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:

Some monkeys are donkeys.
All donkeys are lions.

Conclusion:

1. All lions are donkeys.
II.  All donkeys are monkeys.

Ans X 1. Both conclusions follow.

/< 2. Only conclusion II follows.
/< 3. Only conclusion I follows.

« 4 Neither conclusion I nor conclusion II follows.

Question ID : 9895806493
Chosen Option : 3

Q3 37 3w FT TOA HL FT T A0 AT FOlt & T & Y F Tacdd T & 20T B
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Question ID : 9895806505
Chosen Option : 1

kS

Q4 ‘Horse® is related to ‘Foal’ in the same way as ‘Man’ is related to
Ans X1 Family

X 2. Student

v 3 Child

X 4 Women

Question ID : 9895806486
Chosen Option : 1

Q5 gelect the term that will come next in the following series.

aCCe, fHHj. kMMo,
Ans X 1. gRRt

/< 2. qSSt

« 3. pRRt

X 4 pQQr

Question ID : 9895806481
Chosen Option : 3

Q6 1dentify the odd one from the following.
Ans x 1. U

X 21

vz

X4 E

Question ID : 9895806483
Chosen Option : 1

Q7 Rw aTT THEIUT A T AT F o€ T & B Y 39w F T 2

0+15+15- 10 x 10 = -99
A %1 4 3¥T x
VR,
X3-+3ﬂ¢_
X4 = 3y x

Question ID : 9895806498
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l Chosen Option : 1

Q-8 Tdentify the decimal number that will come next in the following series.

20, 19.9, 19.89, 19.889, 19,8889,

Ans o 1 19.88889
X 2. 19.88888
< 3. 10.08880
< 4. 19.88999

Question ID : 9895806494
Chosen Option : 1

Q9 Select the correct option to complete the following pattern.

O

0|0

Ans

Question ID : 9895806502
Chosen Option : 4

Question ID : 9895806482
Chosen Option : 1

Ql-l If OFFICE is coded as PHIMHEK, then COLLEGE will be coded as

Ans 1 DQOOJIML
< 2 DQOPINL
3 DQPPIML

v 4 DQOPIML
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Question ID : 9895806488
Chosen Option : 2

Q2-1 37 faweT & 989 S 99 98 § 38 g ¥ §9Ud § O 9eR gET 9E Yed 98 ¥ FErd g

S EEEeELE
Ans of 1400

<2 326

< 3 256

X 4 350

Question ID : 9895806496
Chosen Option : 1

Q?;l Select the option that most closely resembles the mirror image of the given figure.

Ans

Yolo W

Question ID : 9895806503
Chosen Option : 2

Q.1 Read the given statements and conclusions carefully and decide which of the conclusions logically follow(s) from the
4 statements.

Statements:

All girls are students.
All students are sisters.

Conclusions:

1. All girls are sisters.
II.  Some girls are not sisters.

Ans X 1. Neither conclusion I nor conclusion II follows.
& 2. Both conclusions I and II follow.
< 3. Only conclusion II follows.

« 2. Only conclusion I follows.

Question ID : 9895806492
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l Chosen Option : 4

Q5-1 If PROFIT is coded as 17-19-16-7-10-21, then how will COMPANY be coded as?

Ans X1 3-16-14-17-2-15-25
v 2 4-16-14-17-2-15-26
X 3. 3-15-13-16-1-14-25
X 4. 4-15-13-17-2-15-26

Question ID : 9895806487
Chosen Option : 2

Q.1 sarath, Naveen. Deepak and Vikram are sitting around a round table and discussing their trades. Sarath sits opposite to
6 the engineer. Naveen sits to the right of the doctor. The lawyer is to the left of the police.
Vikram sits opposite to Deepak.

‘Who is the engineer?
Ans 1. Deepak
& 2. Sarath

X 3 Vikram
!’4- Naveen

Question ID : 9895806490
Chosen Option : 1

Q.1 A pharmaceutical company launches eight new medicines — A, B, C, D, E. F, G and H. The medicines were launched
7 one after the other over a period of 3 months in 2015. The order in which the medicines were launched followed the
given conditions:
A got launched immediately after H;
E got launched before both G and A;
C got launched immediately after E;
D got launched before E but after B; and
B got launched immediately before F.

‘Which of the following could be true?
Ans X 1. G was the second medicine to be launched.
< 2. B was the third medicine to be launched.
/< 3. A was the fourth medicine to be launched.
v 4 C was the fifth medicine to be launched.

Question ID : 9895806491
Chosen Option : 1

Q.1 Five friends are sitting in a row. Sathya is sitting next to Prabha but not to Dhivya. Keerthi is sitting next to Roja who is
8  sitting on the extreme left and Dhivya is not sitting next to Keerthi. Who is sitting in the middle?

Ans X1 Keerthi
2 Sathya

/< 3. Dhivya
X 4 Prabha

Question ID : 9895806489
Chosen Option : 1

Q.1 A square transparent sheet with a pattern is given. Select from among the four alternatives how the pattern would appear
9  when the transparent sheet is folded at the dotted line.

Ans
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Question ID : 9895806504
Chosen Option : 4

de Select the figure that will come next in the following series.

o, 'y
Ans
KL I—~—I
ot
L ]
V2 ‘><‘
ol
-
x| X
-
X ® Jf-
Question ID : 9895806500
Chosen Option : 2
Q.2
1
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Identify the number that DOES NOT belong to the following series.

0,7,26,2,9,27, 4,11, 30
Ans X 1. 7

X2 26

<39

v 27

Question ID : 9895806495
Chosen Option : 1

Q.2 Inthe following number series, two numbers have been put within brackets. Study the series carefully and select the
2 correct alternative with respect to the series.

2, 5,10, 17, (26). 37, 50, 65, (81), 101
Ans X 1. Both the bracketed numbers are correct.

/< 2. Both the bracketed numbers are incorrect.

X 3

The first bracketed number (from the left) is incorrect and the second is correct.

v 3

The first bracketed number (from the left) is correct and the second is incorrect.

Question ID : 9895806499
Chosen Option : 4

.2 . - A & -
Q3 Select the option in which the given figure is embedded.

Ans

4

Question ID : 9895806501
Chosen Option : 4
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Q2 Identify the odd number from the following.

Ans of 1167
X 2 256
X 3196
X 4 225

Question ID : 9895806497
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

5
Abundant : Scarce : : Arrival : ?

Ans o 1. Departure

/X 2. Stop
/< 3. Reach
/< 4. Come

Question ID : 9895806485
Chaosen Option : 1

Qéz From when did GST come into effect in India?
Ans X 1 omd etober 2015
X 215%™ Aygust 2014

< 3. gth November 2016
v 4 15 July 2017

Question ID : 9895806539
Chosen Option : 1

Q7-2 ‘When was the Fugitive Economic Offenders Act passed by the Indian parliament?

Ans X 1. 2016
X 2 2012
V'3 2018
X 42014

Question ID : 9895806543
Chosen Option : 4

Q.2 The Minimum Support Price (MSP) is announced by the Government of India for how many crops?
8

Ans Xl- 20
< 2 30
V'3 25
X 4 15

Question ID : 9895806541
Chosen Option : 3

%2 In which city was the Indian National Congress founded?

Ans
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v i Bombay

X 2. Madras
/X 3. Rajkot
X 4 Calcutta

Question ID : 9895806555
Chosen Option : 2

Q.3 Identify the industrialist who is the founder of the natural resources company called Vedanta Resources.
0

Ans X 1. Shankar Uday
2 Anil Agarwal

X 3. Vishal Sikka

& 2. Kuldeep Agarwal

Question ID ; 9895806538
Chosen Option : 4

23 In which country is the *Great man made river’ located?
Ans X 1. Ethiopia

v 2. Libya

/< 3. Egypt

/< 4. Kenya

Question ID : 9895806550
Chosen Option : 4

%3 Who patented the FM radio?
Ans o 1. Edwin H. Armstrong
/< 2. John Logie Baird

X 3. Thomas Alva Edison
X 4. Nicola Tesla

Question ID : 9895806545
Chosen Option : 4

Q.3 The first ever Philip Kotler Presidential Award went to which of the following world leaders?
3

Ans  of 1 Narendra Modi
/< 2. Donald Trump

/< 3. Teresa May
< 4. Angela Merkel

Question ID : 9895806536
Chosen Option : 4

23 Into how many ‘mandalas’ or books is the Rig Veda divided?
Ans X 1. 7
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X212
X35
v 4 10

Question ID : 9895806553
Chosen Option : 2

Q5'3 ‘Insuknawr’, a traditional Indian sport, is associated with which state?
Ans X 1. Nagaland

/< 2. Meghalaya

v = Mizoram

/< 4. Manipur

Question ID : 9895806534
Chosen Option : 4

Q.3 Prohibition of children under 14 years of age to work in any hazardous employment is stated in which article of the
6 Indian constitution?

Ans X 1.799
X2 25
V'3 24
X423

Question ID : 9895806542
Chosen Option : 4

Q3 Which of the following is the national sport of Sti Lanka?

Ans X 1. Cricket
' 2. Volleyball
/< 3. Hockey
< 4. Basketball

Question ID : 9895806535
Chosen Option : 4

%3 Yorrar &9 F o geR # TAEa WEET & 915 SEr 82
Ans “13{@

X2 gaefraE

X aa

X o 8T

Question ID : 9895806548
Chosen Option : 1

Qf’ Where is the largest drinking water reservoir in the world located?

Ans xl_ TUSA
/& 2. China
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X 3. Russia
v 4. Saudi Arabia

Question ID : 9895806549
Chosen Option : 4

Q64 ‘Modse’ is a traditional dance form of which of the following Indian states?
Ans (1. Jharkhand

' 2. Nagaland

/< 3. Mizoram

X 4 Odisha

Question ID : 9895806531
Chosen Option : 3

Q.4 How long should a person should have practised in a High Court to be appointed as a Judge of the Supreme Court of
1 India?

Ans Jl. 10
X2 15
X35
X412

Question ID : 9895806544
Chosen Option : 1

%4 In banking terminology, the term SLR stands for:
Ans X1 Subsidiary Leveraging Ratio

< 2. Standard Liquid Ratio

' 2. Statutory Liquidity Ratio

/< 4. Subordinate Level Return

Question ID : 9895806540
Chosen Option : 1

Qé" Green Revolution was first started by which of the following nations?
Ans X 1. Chile

v 2. Mexico

< 3. Brazil

< 4. Argentina

Question ID : 9895806552
Chosen Option : 4

QA" In which Indian state is Mount Dhupgarh located?
Ans X1 Gujarat

/< 2. Uttar Pradesh

+ 3 Madhya Pradesh

/< 2. Rajasthan
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Question ID : 9895806551
Chosen Option : 1

Q!_;4 ‘Gulzar Houz’, a historical fountain, is located in which of the following Indian cities?

Ans o 1 Hyderabad
& 2. Lucknow
X 3. Delhi
X 4 Ajmer

Question ID : 9895806533
Chosen Option : 4

Qé“ ‘Losoong’ is a festival of which of the following Indian states?
Ans X 1. Goa

v 2. Sikkim

/X 3. Meghalaya

/< 4. Arunachal Pradesh

Question ID : 9895806532
Chosen Option : 4

4 Which of the following was the capital of the Pallava Dynasty?
Ans X 1. Madurai

/< 2. Vishakhapatnam

/< 3. Thanjavur

+ 2. Kanchipuram

Question ID : 9895806554
Chosen Option : 4

%4 Which acid is present in tomato?
Ans of 1. Oxalic acid

/< 2. Tartaric acid

/< 3. Sulfenic acid

X 4 Malic acid

Question ID : 9895806546
Chosen Option : 4

%4 Who is the author of the book ‘Why I am a Hindu'?
Ans X 1. Amish Tripathi

< 2. Durjoy Dutta

' 3 Shashi Tharoor

/< 4. Chetan Bhagat

Question ID : 9895806537
Chosen Option : 4
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%5 Which of the following animals is a mammal?
Ans of 1 Whale

& 2 Tortoise

X 3. Annelids

X 4. Bullfrogs

Question ID : 9895806547
Chosen Option : 3

Q1-5 fraer wfdee ofF a9 & @rmoT s &7 97 $1800 & fer 10 It & 2700 g =meefr?

Ans X1 12%
X2 15%
X3 10%
v 4 5%

Question ID : 9895806595
Chosen Option : 4

Q.5 ver seomEre HYAT 12 & 9t H 60 & Frar § 3T 6 g 3HFT HET & 2 & H 9¢ AT §) FHA
2 41 & ot & a2 F7 shEE @ T A

Ans of 1. 36
X2 84
X 3 63
X4 48

Question ID : 9895806585
Chosen Option : 1

Q.5 A person travels from one place (P) to another place (Q) at a speed of 60 km/hr and return from Q by increasing his
3 speed of 50%. The average speed of person is:

Ans X 1. 62 kmvhr
X 2. 75 km/hr
X 3. 74 km/hr
v 4 72 kiy/hr

Question ID : 9895806589
Chosen Option : 2

Q.5 The base of a right prism is an equilateral triangle with a side of 5m. and its height is 20m. The volume of the prism is:
4

Ans X1 125 m3
X 2 1203m3
X3 pom’
v i 1253m?

Question ID : 9895806602
Chosen Option : 4

Q5
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Ans

KoL
K2
v &)
X 4

12
24
14
4
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® Thevalue of 54 —2(20+ 12 + 4 x3—2 X 2)+ 10 is equal to:

Question ID : 9895806582
Chosen Option : 3

Qé5 The least number when divided by 27. 45, 30 leaves the remainder 5 in each case is:

Ans

- 308
- 102
- 260
7

Question ID : 9895806581
Chosen Option : 2

Q.5 Study the Table Properly and answer by interpreting the data:

7

Ans

The table gives the percentage of marks obtained by five students in four different subjects in an examination.

Subjects (Max. Marks)
students Maths Chemistry | Physics Biology
(150) (130) (120) (100)
Harish 20 50 60 70
Raman 80 30 60 65
Rajesh 70 60 80 82
Manoj 35 75 20 72
Azmat 40 35 38 48

The number of students who obtained 50% and above marks in all subject is:

v
K2
F 3
p N

Lo oth

Question ID : 9895806604
Chosen Option : 1

Q.5 Study the Table Properly and answer by interpreting the data

8

Ans

The table gives the percentage of marks obtained by five students in four different subjects in an examination.

Subjects (Max. Marks)
students Maths Chemistry | Physics Biology
(150) (130) (120) (100)
Harish 90 50 60 70
Raman 80 30 60 65
Rajesh 70 60 80 82
Manoj 35 75 20 72
Azmat 40 35 38 48
What is the average marks obtained by all five students in Chemistry?

X 170

V2 65

X 3 85

X4 75

Question ID : 9895806603
Chosen Option : 2
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Q.5 The ratio of two numbers is 8 : 3 and their difference is 120. The smallest of the two number is:
9

Ans X1 162
X 2 65
X384
v

Question ID : 9895806592
Chosen Option : 4

Q(;G The value of 5 + [(28 — 4) + 22 + 2)] — 2 is equal to:
Ans x 1.5

7
K36
4

Question ID : 9895806583
Chosen Option : 2

Q:I..G A shirt is marked 2500 is available for ¥2200. The rate of discount percentage offered as:

Ans X1 10%
X 2 25%
v 3 12%
X 4 15%

Question ID : 9895806599
Chosen Option : 3

Q2'6 If 20% of certain number is equal to 3/4h of another number, what is the ratio between the numbers?

Ans X1 4:3
X2 4:6
V3 15:4
X4 3:4

Question ID : 9895806594
Chosen Option : 4

Qée The time taken to cover a distance 150 km by a train moving at 40 knv'h is:

Ans  of 1. 3 hrs 45 minutes
75 2.3 hrs 35 minutes

< 3. 2 hrs 35 minutes
75 4. 2 hrs 45 minutes

Question ID : 9895806588
Chosen Option : 1

Q.6 =¥ smm W =Twgfad 5% Wi 79 $r s X W 800 Fr vl FFaw wEw 7 882 g wrwEh?
4
e K14 a€
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K25 a8
Voo as
K43 a9

Question ID : 9895806596
Chosen Option : 3

QE_;G The relationship between mean, median and mode in the central tendency is:

Ans X 1. Mode = 3 median + 2 mean
v 2. Mode = 3 median — 2 mean
X 3. Median = 3 mode — 2 mean

X 4 Median = 3 mode + 2 mean

Question ID : 9895806590
Chosen Option : 1

Q.6 Study the Table Properly and answer by interpreting the data
6

The table gives the percentage of marks obtained by five students in four different subjects in an examination.

Subjects (Max. Marks)
students | Maths | Chemistry | Physics Biology
(150) (130) (120 (100)
Harish 90 50 60 70
Raman 30 30 60 65
Rajesh 70 60 80 82
Manoj 35 75 20 72
Azmat 40 35 38 48

How many students secured below 50% marks in each of the subject is:

Ans “1. 1
X22
F 3
54

o

Question ID : 9895806605
Chosen Option : 1

Q.6 The cost price of 15 articles is equal to the selling price of 12 articles. The Profit or Loss percent of the article is:
7

Ans X 1. 20% profit
X 2. 25% loss
W 3 25% profit
X 4. 20% loss

Question ID : 9895806597
Chosen Option : 1

Q.6 The ratio between the selling price and cost price of an article is 7 : 3, What will be the ratio between the profit and
8 selling price of the article?

Ans X1 7:4
X25:2
X3 7:3
v 4:7

Question ID : 9895806593
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l Chosen Option : 2

Q.6 Rahim and Harish can do a work in 15 days and 10 days respectively. In how many days the same work will be finished
9 if they work together?

Ans (1. 6
< 2. 30
X3 25
Xas

Question ID : 9895806586
Chosen Option : 1

Q.7 urer Femat #r stea 120 ¥ °fY v H&ar #r aeEr A AT, ar 9w =9 gt &+ sea 130 7
0 ST B S T &

Ans of 1. 80
<2110
X3 75
X 4120

Question ID : 9895806584
Chosen Option : 1

%" ARITHMETIC ereg &, | 38 & gkt &1 Sfaerd a1 82
Ans X1 10%

v'2 20%

X 3 15%

X 4 25%

Question ID : 9895806591
Chosen Option : 2

Q2-7 How many cubes of 5 cm edge can be placed in a cubic box of 2m edge?

Ans  of 1 64000
& 2. 10000
< 35000
X 4. 46000

Question ID : 9895806600
Chosen Option : 3

Qé7 If 6 persons reap 36 acres in 24 days, how many acres will 12 persons reap in 18 days?

Ans xl_ 15
X2 28
Vs 24
X 4 35

Question ID : 9895806587
Chosen Option : 3

Q.7 100 oranges are bought for T400 and sold at the rate of T60 per dozen. The percentage of Profit or Loss is:
4
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Ans X1 30% loss

X 2. 20% loss
W 3 25% profit
X< 4. 15 % profit

Question ID : 9895806598
Chosen Option : 3

Q.7 The area of two equilateral triangles is 36 : 64. The altitudes of the triangles will be in the ratio of:
5

Ans X'1.8:6
X 2 36:64
X3 64:36
vi6:8

Question ID : 9895806601
Chosen Option : 4

Section : English Language

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

Gazing out of the train window as I travelled upon the country, I was introduced to a new India.

Ans X' 1. g new India
X 2. introduced to
« 2 upon the

/< 4. Gazing out

Question ID : 9895806154
Chosen Option : 2

Q2 Select the most appropriate option te fill in the blank.

There is nothing that of us can do to solve the problem.
Ans X' 1 every one
v 2. any
/5 3 none

/X 4. no one

Question ID : 9895806160
Chosen Option : 2

Q3 Select the correctly spelt word.
Ans X 1. Permision

/< 2. Parmission

& 3. Permmission

v 4 Permission

Question ID : 9895806179
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 4

Q4 Select the most appropriate option that will fill in
the blank number 1.

Ans X' 1 cage
< 2. forest
W 3 captivity

/< 4. caves

Question ID : 9895806163
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 5

Q5 Select the most appropriate option that will fill in
the blank number 2.

Ans X1 loss
/< 2. harm
/< 3. damage

« 4 injuries

Question ID : 9895806164
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 6

Q6 Select the most appropriate option that will fill in
the blank number 3.

Ans X' 1 grow
#< 2. nurture
v 3. inhabit
< 4 breed

Question ID : 9895806165
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 7

Q7 Select the most appropriate option that will fill in
the blank number 4.

Ans X 1. flock
W 2 pride
#< 3. bunch
/< 4. pack

Question ID : 9895806166
Chosen Option : 2

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 8

Q8 Select the most appropriate option that will fill in
the blank number 5.

Ans «l. preying
/< 2. snatching

< 3. consuming

/< 4. eating

Question ID : 9895806167
Chosen Option : 4

Q9 gelect the antonym of the given word.

PAUCITY

Ans  of 1. Surplus
X 2 Lack
X 3 Flexibility
/X 4. Shortage

Question ID : 9895806171
Chosen Option : 3

%1 Select the option that means the same as the given idiom.

To be in hot water
Ans 1. To be depended on

X 2. To be unreliable
« 3 To be praised

& 4 To be in trouble

Question ID : 9895806172
Chosen Option : 3

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
The football team had won the series abroad after a decade and brings home the trophy.
Ans - 1. won the series
& 2. adecade
/< 3. abroad after
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« 2 and brings

Question ID : 9895806156
Chosen Option : 2

Q1 : EERoh
5 Select the most appropriate synonym of the given word.

FUTILE
Ans (1. Boring
v 2. Useless
/< 3. Uninteresting

X 4. Juicy

Question ID : 9895806168
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

Ans X 1. on the physical and mental make-up of species
< 2. from the physical and mental make-up of species
/< 3. No improvement

' 2 in the physical and mental make-up of species

Question ID : 9895806159
Chosen Option : 1

Q‘il Select the most appropriate option to fill in the blank.

In my opinion, heisthe  “of all the brothers.
Ans <1 brightly
« 2. brightest
< 3. bright
/X< 4. brighter

Question ID : 9895806161
Chosen Option : 2

%! Select the antonym of the given word.

GORGEQOUS
Ans X' 1. Decorative

& 2. Beautiful

X 3. Smart

' 2 Ordinary

Question ID : 9895806170
Chosen Option : 4
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Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
6 substitute it. select No improvement.

He searched for his files across the chest of drawers.

Ans X 1. No improvement

/< 2. above the chest of drawers
' 2 in the chest of drawers

X 4 into the chest of drawers

Question ID : 9895806157
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
7  substitute it, select No improvement.

He do not register his dissent to the proposal put forward by the member.

Ans 1. No improvement
X 2. did not registered his dissent to
< 3. does not registered his dissent to

« 4. did not register his dissent to

Question ID : 9895806158
Chosen Option : 4

Qé1 Select the word which means the same as the group of words given.

A collection of poems
Ans 51 Rhyme

X 2. Verse

X 3. Stanza

' 2 Anthology

Question ID : 9895806174
Chosen Option : 2

Qél Select the option that means the same as the given idiom.

Fair weather friends

Ans X 1. Friends who are always happy
< 2. Friends who keep you happy
« 2. Friends in good times

< 4. Good company for holidays

Question ID : 9895806173
Chosen Option : 3

%2 Select the most appropriate word to fill in the blank.

I read ‘Harry Potter’ books because they were by my friend.

Ans X 1. counselled

X 2. advised
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v 3 recommended

& 4 motivated

Question ID : 9895806176
Chosen Option : 4

Ql-z Select the most appropriate word to fill in the blank.

In what ways has progress in human knowledge our environment?
Ans X1 aligned
/< 2. represented

v 2 altered
X 4 reframed

Question ID : 9895806177
Chosen Option : 2

Q-2 From the given options, identify the segment in the sentence which contains the grammatical error.
2

The department will initiate a campaign to promoting organic farming across the State.

Ans X 1. across the State
/< 2. organic farming
A 3 will initiate
' 4. to promoting

Question ID : 9895806155
Chosen Option : 2

%2 Select the correctly spelt word.

Ans X 1. Comamorate
/< 2. Comemorate
< 3. Commamorate
' 4 Commemorate

Question ID : 9895806178
Chosen Option : 3

Q2 : T
2 Select the most appropriate synonym of the given word.

MANDATORY
Ans 1. Elementary
& 2. Lucid

X 3. Advanced
' 2 Compulsory

Question ID : 9895806169
Chosen Option : 4
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Select the word which means the same as the group of words given.

Country treated as permanent home by an individual
Ans X 1. Residence

v 2. Domicile

/< 3. Dwelling

/< 4. Neighbourhood

Question ID : 9895806175
Chosen Option : 1

Section : Hindi Language

Q1 R 1w arrr # twfra @S @ woraiE e & B 395 Rk @1 T =

e T 5 AR Fr @gea B
A XL Rt & e B
X 2 R = "7 B
v Rt # T mEeT B
X 4 It F AgeT B

Question ID : 9895805950
Chosen Option : --

*? FE &N A g F TEF HL
Ans oC 1 TR

X 2 gETERT

Ry

X 4 IR

Question ID : 9895805970
Chosen Option : --

** o I areheRs W T Y
Ans Xl_ AT

X 2 T

X 3 T

v o TOae

Question ID : 9895805971
Chosen Option : --

* o T ST F T OF aeg IET

HeT @ arelr
Ans X 1 9meEd

X 2 g
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v o mErE
X+ merefrer

Question ID : 9895805968
Chosen Option : --

®® T T ey e I

Teer

Ans X 1. TET-hal
X 2 TF TE
K= ghar
v & HeT

Question ID : 9895805962
Chosen Option : ==

*® fow 1T I T FE AR AT HY S FE IR
TAT FT YT FIR T TFeo ag Ao HiST g T g
e X weg &
Vo FAT FT emgy
X 2 TEO T
X4 fBeE e @ = g

Question ID : 9895805948
Chosen Option : --

7 T T e ¥ TUTOERET oeE W TAT F1I

Feremr

Ans Jl. ?i?n_
X2 de
X3 Ja
X 4 TaTH

Question ID : 9895805965
Chosen Option : --

Q8 v a1w arrr # Iwfha WS @ waraRE W & B 397 Rk @ T =

gTeTS WATAR 99 9% @ § AR aér S 9o & W El
K S T R R
X 2 g S I W @ 2
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5 g S e T @ 8
X 4. GIET S g T TG A

Question ID : 9895805949
Chosen Option : --

¥ P T Y oA & AT 3UGFS g AT
gH T |

Ans xl. E"%ﬁ
X 2 g
Vo iy
X o e

Question ID : 9895805953
Chosen Option : ==

Comprehension:
el weamr & Rea s $1 9T aganr & & G e
SRl F HFER HAT -

IS & JaT A & AfasT g1 3 H SewAlc FT AR FaT 9T H
& T Fr g1 garst 7 g (1) o afEFT g § &
I FEr off TRIET & WHAT T TFd &1 SF ST FT HIAT TH
FERT () W ¥ g # R FAT o A9 A H
(3) gar 81 3 S TS Hr 7 ¢ o gAd aar fom-
g (4) @ S @ B g S FROT & g A
UIeETed HEpI & GHE UF 3TYfare @a-HgeT & 4o 3ces
DY SR I ARE . (5) #r 3=
T T B
SubQuestion No : 10
G Tz F T e T (1) F e suged
reg BT -
Ans Xltni-ﬂ'
\fz.aljﬁ
X 3 TEH
X4.ig'~"€ﬁ'

Question ID : 9895805957
Chosen Option : --

Comprehension:
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ol aeamr & Rea s & 9fd gz & = fge o
TRl & HFER HAT -

IS & JaT el & ATasT g1 3 H FewAle H IR FaT T H
& AT S g1 At 7 s () g afFg e & &
I ol ofr qYereh 1 TEAT R TS §1 3% AT F I U
3HomT (2) g &1 o T F W TET FO AW w
(3) 21T §1 3 4T TE H A § F gAY B RH-
gfefem _ (4) W o W 31 Reg F FROT F At A
TR HEpic T WHIE TF Afe T@a-Hget  URUT 3cqest
2 @ ¥, BE enor ¥ wue AR (5) Fr EREAT
T o B
SubQuestion No : 11
S Temy F wHfaT Ed T (2) F B suged
rE BT -
Ans K'l-g_‘-[ﬂm
/< 2. 3cHTE
v 3 9
X 4 ToraTar

Question ID : 9895805958
Chosen Option : --

Comprehension:

Tl weamr & Rea wer @& I ae@nr & e e
weAl & FFER AT -

IS & JaT Fol & Al §1 3 F IeAlT F HAR AT T B
& FAT S g1 garst A g (1) o= T BT & &
T fordr ofr Tl FT TEAT X @Fa &1 3% S HT HIST U
3T (2) B &1 aT T H W TAT TS A A HI
(3) BT &1 3T ST TE Hr 3 ¢ T gAd Far o=
gfafes (4) B ST Wr 81 Teg % FRON & AT A
qreETed HEpid & GHIE UF 3TYfere ga-HaeT @l gro 3cdeet
2 & 8, o FRor 3 e Ao (5) #r R
A T B
SubQuestion No : 12
% sz F g¥fE R T (3) F e suged
reg BT -
Ans KlgT
v 2 HEX
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X5 o
X 4 g

Question ID : 9895805959
Chosen Option : --

Comprehension:

e weamr & Rea wuer # qfd ez & e e o
SRl F HFER HAT -

IS & JaT A & AfasT g1 3 H FewAlc HT IR FaT 9T H
& T FMr g1 et 7 g (1) o= g ar & &
I FEr off TR & WHAT FT HFhd g1 SdAF i FT HIT Th
HERT () @ ¥ O T F R AT TO A FA H
(3) BT &1 3N ST TE Hr A ¢ T gAd A fom-
gfRfee  (4) @ o @ ¥ g FE Fwo & g F
UTeETed HEpId & 9T UF 3TYfare @a-Hag=T @ 4o 3ces
T STreRr IS ARE . (5) Fr =S
T T F
SubQuestion No : 13
% sz F T R T (4) F e suged
reg BT -

Ans o 1 FeTE
v 2 Ao
PER-Cr
K4 FAEAR

Question ID : 9895805960
Chosen Option : --

Comprehension:

Tl weamr & Rea wuer & 9fd ag@nyr & #er e o
SeAl & HFAR HIAT -

S & JaT Fol & Al §1 A F IewAlT F HUR AT T A
& T S g1 garst F g (1) o= T BT & &
I FEr off TR & WHAT FT Thd g1 Sdd i FT HIT Th
3T (2) B &1 o T F W TET TO AW F
(3) AT §1 S TRt W F 2T ¢ F gAd = K=
gfafesr (4) B ST Wr 81 Teg % FRON & AT A
TeETed TPl T WHIE TF Hfee T@a-H8T e URUT 3cdest
2 @ g, EF FRoT T e AfSw (5) & rageleT
T A 2
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SubQuestion No : 14
% Tege # dwfad Red e (5) % e suged
e, BN -
Ans 5 g e
X 2 ot
v &3 ﬂﬁ:ﬂ'

X 4 PrAgr

Question ID : 9895805961
Chosen Option : --

%! R AT weE ¥ qUOETER e FT IUT Fi

EELC

Ans xl' 5131‘
X 2 Orae
v ogaa

XK 4 8FSTT

Question ID : 9895805964
Chosen Option : --

Qél Al & & 57 Rees & 99a 1 A 9F T W T 95 gerel & Y w@ed HT g
A
" 1 3o A BT

X2 AT ¥ IO 919 I@=T
X3 A AT F 3EAT
X 4 FegaAT FLAT

Question ID : 9895805967
Chosen Option : --

§ R T e F e T
reT
ANS 51 ST
X 2 HTEA
X 3. goyET
v 4 Tger

Question ID : 9895805963
Chosen Option : --

% R T qrre F QT o aeg IEw
Elg?-rr-'ﬂa'aaﬁm
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Ans « 1 W
X 2. 3reTETAET
X3 HTETHY
X 4 gigemT

Question ID : 9895805969
Chosen Option : --

% R = s F T 39gFd el F w9

e a3 Fr g
Ans ?(1- S%FFE

v 3ET

K3 T

X 4 ST

Question ID : 9895805955
Chosen Option : --

% R wre # o F R swEd aee # TaT a
WS aE w4 B
ms X 1 et
X o war
X o wms
VR

Question ID : 9895805954
Chosen Option : --

Q1-2 ﬁmﬁﬁaﬁ#mﬁ%wmﬁﬁ'ﬁ?ﬁﬁﬁrﬁﬁﬁﬁwwmmy
Ans = it g

X 2 g9 YR H T & ey

X 3 ZafeT =mear

v o St o F sreew daa

Question ID : 9895805966
Chosen Option : --

% R oTT IR @ 3 AT A9 W S FE IR

T 39aT AT FT FOT A7FGr & F@r 857 &l
Ans X1 maRdT o
X 2. FET IS ST
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X 3 o F FH

v o Figsr HIA

Question ID : 9895805947
Chosen Option : --

Q2 o e 3 it s F SRR w F B s R w1
o 30 A A ¥ 0 A 9% oy o A ¥

e XL 3 & o i e

K2 37 & 93 3R we

Ko 37T & 9 AR we

v 4 3T & 9T Ak we

Question ID :: 9895805951
Chosen Option : --

% R we # e F R swEd aee # TaT a

I TS Fr T 2
Ans «1- Fn%_

<2

X 3 HIET

X4 @

Question ID : 9895805952
Chosen Option : --

Y’ RT T =T F 9 S AT S¢S FE IR E

e ags 3TN & HTF TEN FH GAEAT 39w FT O &
A o e 9Ee 39w A

X 2 IcqesT FCE 2

X 3. HAF T

X 4 7 gHEEETC

Question ID : 9895805946
Chosen Option : --
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